BASE PLATES

MA SERIES BER

@ SUBPLATE ==

MO2— 03 — B — 1
IEl Mounting Size JEJ Port Size
ERRT og
MO02= 1/4”(6mm) 02: 1/4"
ISO CETOP3 03:3/8"
DINNG 6
NFPA D03

IEl Port Location JEPiping Threads
O&fiE HHEE
B : Bottom E& 1P PT 4A: SAE
S : Side L} 2N : NPT 5B : BSP
SB : Side & Bottom 3G : PF(G)
AERES

4- 7HOLE 37
4- 1IXIL 19
@ © -
2 ® [}
(=} )__
Q2
z =28 ~
mﬁ_
[

@ SUBPLATE &#

MO3— 03 — B — 1
IEll Mounting Size [JEJ] Port Size
ERRT O
M03= 3/8”(9mm) 03 : 3/8"
ISO CETOP5 04 :1/2"
DIN NG 10
NFPA D05
110
92
18 54
37.3
E X
4-91\ 16, 4-M6

10
w
N

[y
in

22

©,
G [P
F 1aGle .
8¢ Nt S
-
. &
3 € d>

4-P11/4"

IEll Port Location JEIPiping Threads

DEas ERE®
B : Bottom E#® 1P PT 4A : SAE
S : Side [} 2N : NPT 5B : BSP
SB : Side & Bottom 3G : PF(G)
[ER=Ed-"
62
30 40

— =



BASE PLATES

HERIR MA SERIES

@ SUBPLATE &1

M4 — 04 — B — 1
IEl Vounting Size [JEJ] Port Size [JEJ] Port Location [JERPiping Threads
BERT o® ORmS i8R
MO04= 1/2"(12mm) 04:1/2" B: Blottom =3 1P: PT 4A : SAE
06:3/4" S : Side a5 2N : NPT 5B : BSP
ISO CETOP7 SB': Side & Bottom 3G PF(G)
DIN NG 16 8 8 ED
NFPADO7 700 76
0.1(0.004")
5802 o o = F
< o
4-@11(0.43") ThruE ZF 1270050 sl <3
2-917.5(0.69") NEREIE g i
. ME
205020 [ ‘{3 [ =
P I I == ° > & | 2-PT1/4
BIES— X KR o | T
e ©—=58 5| 1O e
g b 4}6} 1N Biw % Q@ o
'6} Q 2-M6 ] = < @
-0 g 4-918.5(0.73") N T
L2 &
1.6(0.06") 02.(3.62" CODE F
14.2 (0.56") M04-04-B | 36 (1.42")
55.6(2.19) M04-06-B | 40 (1.57")
69.8 (2.75") M04-04-S | 40 (1.57")
73 (2.87") M04-06-5 | 54 (2.13")
@ SUBPLATE &=
MO6 — 06 — B — 1
EB I%ngéjgting size IEH I;grt size K I;ggsLocation nz;ipgigg Threads
: @ =
MO06=3/4"(19mm) 06:3/4” B : Bottom & 1P PT 4A: SAE
1SO CETOPS 08:1” S : Side 52 2N : NPT 5B : BSP
SB : Side & Bottom 3G : PF(G)
DIN NG 25 AlEEED
NFPA DO8
) 120 (4.72") § . 92(3.62") —
4-211(0.43") Thru® 5 92(3.62") 14 (0.55") =3 17.5(0.69") =
4-317.5(0.69") ® Z
s @ & AL E
SERE gil (s o e ia
|l Hoe 3| olgEl Se
IR I L& AR~ eld o g
ool ~ts + ~ | T2 ~ 6| {}} S
olx| g i NEIRRE S <2 © =
5|~ 8 o t 2ldl & & (= < o s
2-97(0.28" " | 8| o @ -
A on ik <D
1-0230.91) /[ £ o ﬁ o
PT1/4
6-M12 / @ @ —/{%} {%} CODE F

M06-08-S

2.11(0.43") 19.1(0.750] | M06-06-B | 37 (1.46")
74.6 (2.947) M06-08-B | 50 (1.97")
M06-06-S | 50 (1.97")

57

2.24")

I o2



BASE PLATES

MA SERIES BER

@ SUBPLATE ==

M10— 10 — B — 1
IEl Mounting Size JEJ] Port Size JEJ] Port Location [JERPiping Threads
ERRT og O®fE Ll A
M10= 1 1/4"(31.8mm) 10: 1-1/4” B : Bottom & 1P PT 4A: SAE
2NINPT  5B:BSP
ISO CETOP10 AN
DIN NG 32
NFPA D10
149.2 (5.87")
4.030.5(1.20") 114.3 (4.50") 6-M20

4-@17.5(0.69") ThruE & 76.2 (3.00") 2-@11(0.43")
4026(1.02") \ r

35 (1.38")
158.8 (6.25")
200 (7.87")

123.8 (4.87")

28.6 (1.13")

114.3 (4.50")

2-97(0.28")
8(0.31")Deep

222 (0.87")

42.8(1.69")

108 (4.25")

190.5 (7.50") 38(150/)
266.5 (10.49")
304.5 (11.99")

50 (1.97")

213(8.39")
53.5(2.11")

m R R
e | DO

vy P Yo
& @*@*@ e

2- PT3/8

I o



BASE PLATES

@ MODEL=z =

o= e
/f’/'
: i
MA-02 g
HYDRAULIC SIGN m&#s®
1 \W| -
U ) I
1 R N
P T B A P T B A
@ SPECIFICATIONS =
MODEL & = D E N M L (kg)
1| PT38" M5x0.8P
MA-02-2E 2 50 | 130 5.1
2 | NPT 3/8" #10-24UNC
1 | PT3m" M5x0.8P
MA-02-3E " 3 100 | 180 7.1
5 | NPT3/8 #10-24UNG
1| pTam M5x0.8P
MA-02-4E 4 150 | 230 9
2 | NPT 3/8" #10-24UNC
1 PT 3/8" M5x0.8P
MA-02-5E 5 200 | 280 10.9
2 | NPT3/8" #10-24UNC
1 PT 3/8" M5x0.8P
MA-02-6E 6 250 330 12.8
2 | NPT3/8" #10-24UNC
1| PT3/8" M5x0.8P
MA-02-7E 7 300 | 380 147
2 | NPT3/8" #10-24UNC
MODEL# & o] D E N M L (kg)
1| PT3/4 PT 1/2" M6x1P
MA-03-2E 2 75 185 | 13.8 E
2 | NPT 3/4" NPT 1/2" 1/4-20UNC m
1| PT84 PT 1/2" M6x1P
MA-03-3E " 3 150 | 260 | 19.5
5 | NPT 34 NPT 1/2 1/4-20UNC
T PTamn PT 1/2" M6x1P
MA-03-4E 4 225 | 335 | 250
2 | NPT 3/4" NPT 1/2" 1/4-20UNC
1| PT3/4" PT 1/2" M6éx1P
MA-03-5E 5 300 | 410 | 31.0
2 | NPT 3/4" NPT 1/2" 1/4-20UNC

I o



BASE PLATES

€ HOW TO ORDER s#:yw

EN Ef EN EN K

MA — 02 — 56 — 1P — A
MA — 03 — 5 — 1P — A
n VALVE SERIES =355 ﬂ THREAD TYPE OF JOINT OPEN # O =t
MA= Base Plates for Modular Valves 1P: PT 4A: SAE
2N : NPT 5B:BSP
3G : PF(G)
E SUBPLATE MOUNTING SIZE: o= THREAD :##
02 =1/4"(6Bmm) 03 = 3/8"(9mm)
ISO CETOP3 ISO CETOP5
DIN NG 6 DIN NG 10
NFPA D03 NFPA D05 B OUTLET SECTION wm

A:A.B Port outlet section at "A" side
ACA B HHEIE AR

B QUANTITY OF VLAVE CONNECTION &g # & B :A. B Port outlet section at "B" side

1 CONNECTIONS % B:A.B HIERE "8"
-2 CONNECTIONS %
-3 CONNECTIONS #
- 4 CONNECTIONS
.5 CONNECTIONS

a s wN -

® All of with Screws it's Cent meter Size and If required Inch Size
FINGHERAHNELERRE  EERHWERBSARHERD

@ DIMENSIONS szrva

MA-02-1E
72(2.83")
. . 2-97(0.28")
7(0.28") | 58(2.28") BB AT F3B(1 40"
40.5(1.59")
D
&
@\D T S _
5 S % & ¢
5 ~i= D D 5l = N
B Nz Amn B ay 9 o
B A 5 o Y m o w¥ ©|
o = . P A
= 5 €] /‘V 18
o —
" N L
w57 | 15059 36(1.42"), | /4-EX12(0.47 )Lg
E | IS¢
(MA| B
[
P @ s
2 -
D &gl
MODEL | MA0-1E-1 | MA-02-1E-2 2| 5
E | o
p . T|g S
D PT 3/8 NPT3/8 % 5
+
E M5x0.8P #10-24UNC )

15(0.59") | 420(0.79")

I 105



BASE PLATES

HERIR MA SERIES

@ DIMENSIONS szr 8
MA-02-% E
O D
<
3
-
¥
H—0 D Q
B
IS P=50 (1.969")
s
40 (1.575") M=(N-1)xP D
L
~ 40 (1.575") M=(N-1)xP E
= P=50 (1.969") e
b <
D % 32,5 (1.280") )
™ ° 1 8
In P - I | 4
g T - o, b6 | & @ A
S = % 3 e & & 8
0 = 2 @_$__$___$_ [ __$__dL 7 @
F| ol g $ $‘P S
: T 5 S A 2
T 4+ 45 o 4 4
15 (0.590") 35 (1.377") 31.(1.220" 207 (0276
70 (2.756") 10 (0.393") Loo@7ey 911:3(0445) 87 0.276")
60.5 (2.382")
o
&
S
’ 4

66 (2.598") T Nﬂ

I oo I



BASE PLATES

MA SERIES

SHEBR

€ DIMENSIONS szrvys

110(4.33"
MA-03-1E 10(0_39")l 90(3.54") 4-Ex13(0.51")L
rd
% A z
MODEL | MA-03-1E-1 | MA-03-1E-2 L3 {%}@ ]
g~
PT 3/4" NPT3/4" B 3T
D PT 172" NPT1/2" @ q @ g
N [ NI
M6x1P 1/4 20UNG & 4501 817 4011(0.43"
=3 32(1.26") o "
] 217.5(0.69") depth 12(0.47")
79(3.11") 79(3.11"
32(1].26") 552.17") D 32(1,26") fc
T 7 s A
P APk j
‘ ( MR \‘M + N
) = LN T |5
3 o N2 3
o 3| Bl A p S
3 IN g \JZ(\ ©
e c
MA-03-3% E L
10(0.39") (L-20)
79(3.11") M=(N-1)xP 79(3.41")
32(1.26") P=75(2.95") E 32(1.26")
T o5 © o©g| © \‘<B T
i) P gigt= © b © P R
ols SEE P @ © © @ £ pAZRY
5 Sl = & @ B N\ A
A 85,8 @ @ = S
= * : o o\ o e a g
¥ Q ? o = 2
R 46(1.81"
el U —
c S 332(1.26")| 75(2.95")
g 2-411(0.43")
- #17.5(0.69") depth 15(0.59")
M=(N-1)xP
(<5521 75(295")
—4
£ B
N Y
5 i 9
&S A @ @ @
~ |
~ ﬁr

I 57



